&ZELD) »P.734 pp.784  &ZEED »P.784 91

'l " jis N
| & e 4B o )

B{HEIRO I Y E LK DMLV TR FOTEE, m 011002
DAY FEORINEZFBULTIST Y NEEERDRFIFDTENTEFT .

Y EHS -G

o)) SUS304

MERE ME - FRENE TEm EM
2HE(SUS304/E FFra— MI1{E =
C | S45C/ REH AKBRHA b (SCMA35/ BkH) 14
I P — 24 € (SUS304) 18 SCK 1015 €/ TN
- ARV b (SUSXMT) 14 AZE10mm. 1&15mm. 238
®D+0.1 A mm

(E)
F'
e

0|
lo

2-M1

¢B H7
Y
S

) |

e.l

(=5
LT

L/2
L£0.1=—] [ [0.01]A Q scx

HIGEISEDHSAEM R HTTTERAES N,

P SCK 1015 TN
12.1/105| M6x18 SCK 1215 TN 1,300 | 1,800
12112 | M6%X18 SCK 1515 /TN 1,400 | 2,000
12112 | M6x%18 SCK 1615 TN 1,400 | 2,000
20 |15 46 |185| 273 | M5 | 15 |10 |121 /14 | MBX20 SCK 2015 |TN 1,500 | 2,400
25 | 15| 50 | 21 271 | M5 | 20 |11 [121|165| MBX20 SCK 2515 TN 1,600 | 2,800

=] Caps sl s is 233 | M4 | 10
15 | 15| 40 |17 211 | M5 | 12
16 | 16| 42 |17 247 | M5 | 12

|~~~

30 |15 56 |235| 305 | M6 | 21 [10.5(121/19 M6 X 25 SCK 3015 [TN 1,700 | 3,200
35 20| 65 |26 39 M6 | 23 [10.7 141 |225| M6X35 SCK 3520 |]TN 1,900 | 3,700
40 |20 | 70 | 30 36.1 | M6 | 26 [12.6|14.1|25 M6 X35 SCK 4020__|TN 2,100 | 4,600
50 (20| 85 | 37 418 | M6 | 28 |14.5|14.1/29.5]| M6X35 SCK 5020[ TN 2,600 | 5,800

’
A

iwmata



